
AI 1202 . APPLIDD MDCHANICS

simply suppofed beam with point loads at B,C,D and a rmiformly distributed load of
ftom A to C is shown in the figure below.
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steel wirc of cmss sectional area

's modulus of steel is 2x10-11

(takeg= 13 -"-'1,

10m

3x10-6m2 can withstand a maximum strain of lx10-3.

Nm-2. What is the maximum mass that the wirc can

10m 5m 5m

Draw the free body diagram of the above beam.

Find out the rcactions at A and E.

Calculate the shear forces at points A, B, C, D and E and draw the shear force

diagram,

Calculate the bending moments at points A, B, C, D and E and &aw the bending
moment diagram.


